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6.10 a ∈ K, f, g ∈ K[X]

H�C�@�H�r�)#â�ã�C�@#9
(1) (af)′ = af ′

(2) (f + g)′ = f ′ + g′

(3) (fg)′ = f ′g + fg′

(4) f(X) = (X − a)n
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Xng + X(nXn−1g + Xng′) = (n + 1)Xng + Xn+1g′ = f ′g + fg′
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6.11 f(X) ∈ K[X]
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f ′(a) = 0

�#ù�ú�h
a
4#ø���9

�ö� ù$ú�h
a
4�ø$�,H 'õ*

f(X)
4

(X−a)2
� ²�@�Hë³ f >

1
r�y<U$D��
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b(X − a) + c
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f(a) = 0
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c = 0
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f ′(X) = 2(X − a)g(X) + (X −

a)2g′(X) + b
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(a + b)p = ap + bp
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(a + b)p2

= ((a + b)p)p = (ap + bp)p = (ap)p + (bp)p = ap2

+ bp2 )�â<ã�C�@#9�+¨W�4�� f�� C
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(a + b)pm

= apm
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(a + b)q = aq + bq
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